Mike Ching Magic Show Menu 2023



BOOK any show/service on our <u>BOOK EM page</u>. We provide Staging screens & sound system for clear spoken comedy "Bounce Houses" in room must be turned OFF during showtime. Mahalo!

1) "STROLLING MAGIC" (Table-to-table magic)

\$250. Complete / (1 hr.) * (Best Seller!)



Mike Ching strolls through your Reception hour, performing amazing sleight-ofhand for your guests! Guaranteed laughter & applause! A Grad Party favorite!

Extra Options:

1 hour BALLOON TWISTING	+ \$200.00
1 hour FACEPAINTING	
VIDEO PROJECTION SYSTEM & TECHNICIAN	+ \$400.00
DJ w. SOUND & LIGHTING PKG	\$900.00

2) "PARLOR STYLE SHOW" (For Up to 40 people)

\$375. Complete (Family/Adult Versions) 35 minutes *(Small audience favorite)



A personalized standup performance with Skill effects, Audience Participation & Comedy. * Versions for Child/Family, or Adult/Cocktail audiences!

Extra Options:

1 hour BALLOON TWISTING	+ \$200.00
1 hour FACEPAINTING	+ \$200.00 / 1.5 hr \$300
VIDEO PROJECTION SYSTEM & TECHNICIAN	+ \$400.00
DJ with SOUND & LIGHTING PACKAGE	+ \$900.00

~ STAGE SHOWS ~

* Some Larger shows require a stage floor area of 12' x 20' by showtime. We provide Staging screens & quality sound system for clear spoken comedy To avoid noise interference, "Bounce Houses" in room must be turned OFF during showtime. Mahalo!

1) "THE CLASSIC SHOW" \$700. Complete / approx. 40 min. * (Best Seller!)



2-Person Stage Magic Show with 10 minute "Skill Magic" opening, Lots of Comedy

& Audience participation, Live birds, Big Prizes and the often-requested **"100 Balloon Toss-Out"** audience closer! All shows include our *clear* BOSE L-1 tower Sound system! (*Ideal for crowds up to 500)

Extra Options:	
1 hour BALLOON TWISTING	+ \$200.00
1 hour FACEPAINTING	+ \$200.00 / 1.5 hr \$300
VIDEO PROJECTION SYSTEM & TECHNICIAN	
DJ with SOUND & LIGHTING PACKAGE	

3) "CHING & CHOY" -BIG COMEDY MAGIC!

\$1,000.00 Complete / 45 minutes *Hawaii's Funniest! ~ Hi-Visibility for BIG Audiences!



It's <u>REALLY</u> Stupid! (OK, we warned you!). Mike Ching & Bradley Choy, Hawaii's funniest magic show! **Everything in "The Classic Show"**, <u>PLUS</u> Big Goofy props & Costumes. Giant walking Cards, Hula Gorillas and the infamous "Flooooating Man". **PLUS** Our **100-Balloon Toss-Out Closer!**

Extra Options:

1 hour BALLOON TWISTING	+ \$200.00
1 hour FACEPAINTING	+ \$200.00 / 1.5 hr \$300
VIDEO PROJECTION SYSTEM & TECHNICIAN	
DJ with SOUND & LIGHTING PACKAGE	+ \$900.00

3) "BEAUTIFUL ASSISTANT & BIG ILLUSIONS SHOW"

45 minutes / * Glamorous Big Magic ~ High visibility for Big audiences!
A). (2 illusions) *With Levitation & Zig-Zag Girl, \$1200. Complete
B). (1 illusion) *With Levitation Illusion only, \$1000. Complete



Mike Ching, comedy helper Bradley, *plus* Lovely assistant (Kelly or Nani) performing an amazing Levitation effect for the finale. (*Your choice of **one** or **two** big Illusions, see above). Also includes everything in "THE CLASSIC SHOW" (Skill, "Magic-to-Music" opening / Comedy / Audience Participation, Big Prizes & Room-filling "100 Balloon Toss" closer).

Extra Options:

1 hour BALLOON TWISTING	+ \$200.00
1 hour FACEPAINTING	+ \$200.00 / 1.5 hr \$300
VIDEO PROJECTION SYSTEM & TECHNICIAN	+ \$400.00
DJ with SOUND & LIGHTING PACKAGE	+ \$900.00

4) "DELUXE ILLUSIONS & COMEDY SHOW" \$1,800. Complete / 45 minutes * Our Biggest Show!



THE WORKS! The comedy of "CHING & CHOY", with LOVELY ASSISTANT, BIG ILLUSIONS, and the BEST ELEMENTS of ALL OUR SHOWS! Humor, Spectacle, Beauty, Skill, BIG Magic, the 100 Balloon-Toss Closer, Prizes & Audience Participation!

*NOTE: This show requires a *cleared* stage floor area of 12' x 20' by showtime. * Due to noise interference, "Bounce Houses" in room must be OFF during showtime. Mahalo

Extra Options:

1 hour BALLOON TWISTING	+ \$200.00
1 hour FACEPAINTING	+ \$200.00 / 1.5 hr \$300
VIDEO PROJECTION SYSTEM & TECHNICIAN	+ \$400.00
DJ with SOUND & LIGHTING PACKAGE	+ \$900.00

5) DELUXE SANTA FOR CHRISTMAS

HonoluluSanta.Com



Honolulu's Professional Santa Agency Since 1985! Beautiful, incomparable Santa ensembles in Several Styles! See More @ HonoluluSanta.Com

"Classic Santa"	\$300. Hr
"Real Beard Santa"	\$400. Hr.
Dlx "European Father Christmas"	\$500. Hr.

Extra Options / Christmas:

Inflatable PENGUIN / CANDY CANE ARCH Déco	r \$150.00
1 hour BALLOON TWISTING	+ \$200.00
1 hour FACEPAINTING	+ \$200.00 / 1.5 hr \$300
VIDEO PROJECTION SYSTEM & TECHNICIAN	+ \$400.00
DJ with SOUND & LIGHTING PACKAGE	+ \$900.00

EASY BOOKING:

1. CHECK AVAILABILITY for your date: Call/Text 808 836-1800, or email MikeC1800@aol.com

2. SEND INFO: Go to our BOOK 'EM! Page. (Link Below)

http://hawaiimagicclass.blogspot.com/p/mike-chingmagic-easy-booking-1.html COPY, PASTE into an Email, & FILL with your Info & send to MikeC1800@aol.com

3. TEND DEPOSIT: Request an online Paypal INVOICE for the deposit or payment. Alternately, send check to: Mike Ching, 1476 Ala Hekili Pl. Honolulu, HI 96819.

\$100. Deposit will hold any stage show. (For **Strolling Magic** or **Santa**, Deposit is \$50.) On receipt, we will send a PDF CONFIRMATION for your records.

* **REQUEST A "COMBINATION" QUOTE:** Let us know what Entertainments you're looking for and we'll get back to you with a couple of options for consideration. (Please include your ph#, party date, time & venue. MikeC1800@aol.com).

SATISFACTION GARAUNTEE! If your crowd fails to laugh or applaud AT ALL, (IMPOSSIBLE!) receive a full refund!

CANCELLATION? Things happen, we understand. Cancel more than 60 days prior to event date for full refund. Cancel Anytime up to event date and receive any amount you may have paid, save \$100 deposit.